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history values = get_price(security=code, end_date=get_last time(context.current_dt),
frequency=LONG_UNIT, fields=['close','high’,'low'], skip_paused=True, fg="pre', count=count)
h_array = history_values['high']
| _array = history_values['low']
c_array = history values['close']
value _array =[]
for i in range(len(h_array)):
value array.append((h_array[i] + |_array[i] + c_array[i] * 2) / 4)
first_sigma = np.std(value_array[-RISK_WINDOW-(RISK_DIFF*2):-(RISK_DIFF*2)]) # -120:-60
center_sigma = np.std(value_array[-RISK_WINDOW-(RISK_DIFF*1):-(RISK_DIFF*1)]) # -90:-30
last_sigma = np.std(value_array[-RISK_WINDOW :]) # -60:
sigma = np.std(value_array[-SIGMA_WINDOW:])
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risk_adjust_factor =0

If last_sigma > center_sigma :
risk_adjust_factor =0.5

elif last_sigma < center_sigma and last_sigma > first_sigma:
risk_adjust_factor =1.0

elif last_sigma < center_sigma and last_sigma < first_sigma:
risk_adjust_factor =1.5

return int(context.portfolio.starting_cash * 0.0025 * risk_adjust_factor_/
((POSITION_SIGMA *sigma) * 100)) * 100
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0 ATR
return int(context.portfolio.starting_cash * 0.0025 / ((2 * atr) * 100)) * 100
O & 4 b S e 42 A

return int(context.portfolio.starting_cash * 0.0025 / ((0.05 * cost_price) *
100)) * 100
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FRER S ERRR R Hitblas Alpha Beta Sharpe i BSH BEXEH @
48.17% 49.61% 5.58% 0.453 0.166 4.712 0.507 2.277 3.527% it
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